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a. 40 X 1000 = 40 000 

b. 500 X 10 = 5 000 

c. 100 X 100 = 10 000 

d. 6 800 X 10 = 68 000 
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a. 6 X 10 = 60 

b. 5X 100 = 500 

c. 35 X 10 = 350 

d. 81 X 100 = 8100 

e. 7 X 1 000 = 7 000 

f. 8 X 100 = 800 

g. 96 X 10 = 960 

h. 75 X 100= 7 500 

i. 124 X 10 = 1 240 

j. 37 X 100= 3 700 

k. 30 X 10 = 300 

l. 415 X 100 = 41 500 

m. 102 X 10 = 1 020 

n. 25 X 1 000 = 25 000 

o. 330 X 10 = 33 000 
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En un mois, il pond trois fois donc : 

3 X 500 = 1 500 

Un poisson-clown pond 1 500 œufs en un mois. 

1 500 X 10 = 15 000 

Un poisson-clown pond 15 000 œufs en dix mois. 

 


